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Proofs with Triangles and Quadrilaterals

1. What is the sum of the interior angles of

an octagon?

S: Lg-g_) 8O
= 8(180)
— /OSO°

2. A polygon has an interior angle sum of

2520°. How many sides must the
polygon have? Show all work.

S = @-2)I80
2520 = (I’)—Z) igo
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Use the figure for 3—4.
AQRS is shown.
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3. What is m«£S? Show your work.
Lo =77 +ent3
4x = &9
o = 20

(2x + 3)°

bl S =2(w)+3 = 43°

4. Which definition, postulate, or theorem
can you use to justify your answer?

Gt L Thom .

Use the figure for 5-6.
AHIJ is shown.
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5. Explain how you know that AHIJ is an
isosceles triangle. ___
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6. Can m«J be determined if m/H =74°?
If so, calculate m£J. If not, explain why

not. s . LT+ wmbdI +74=130

MLI"’""‘LT = /06

6"'1CQ mtI = ”Lj_/

2 md T =06
[miT = 53

7. Is AXYZ equilateral, isosceles, or

neither? Explain your reasoning
¥

Z

X
A, = 210
¥ = 30

’MLS)::KO')/ ML%:K&} r
m X T 9o-30 =480°, 5,-,7(_,@
A XY & 'S -96 mr'ms.u_lw J

prwstalse be egurlater=l-




Name

9. What is the circumcenter of AABC?

10. What is XZ?
X2=32.9+5 =125

o
11. ABCD is a @arallelogram,

B
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*10} Determine whether each statemen,t is
4 True or False. - 1y
PY Y he s )
OQ? O~ Z 7 pece”” g’
ol b =
v A AE=BE O True @ False
B AB=CD @® True O False
C AD|BC ® True O False
/ D AE=EC ® True O False
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12. Compare the diagonals of a rhombus and
rectangle, where neither is a square. How
are they the same? How are they

different? , / g
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Use the figure for 13-15.

FIHG is a rhombus.
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Y =2z»x+5

The perimeter of FI_HG is 8x + 20. What

is the measure of F/ interms of x?

EL = L5 e

What is the measure of ZFIH?
ol FTH = 144

13.

for

14.

15. Can the measure of ZFJG be

determined? If so, give the measure.
If not, explain why not. — 90°

Ves. me FTG
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Fill in the blank with the correct point of
concurrency.

A Perpendicular bisectors intersect at the
C| e M-w-ce*:j-w

16.

B Angle bisectors intersect at the

T nce~ter.




